KanabikneH deny
n.2.5
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a:b=qg(kangbiK r)

a= bq+r

a- OeniHriw

B- Oenriw
d-TonbIMCbI3 OeniHA,

ﬁ



Mbicanpap
46:7=6 (kanabik 4)
/-06+4=42+4=46
42:7=6 (kangblk 0)
/-6=42
251:5=50 (kanabik 1)
50-5+1=251
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1EciHoe cakTa !
KanablKk sapkawaH aa
OenrilwTeH Kiwi(kem)
bonaabl

Mblcanbl: Hatypan caHabl 5-

Ke benreHaoe Kanablk
0:1:2:3:4
6onybl MYMKIH.
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KopbITbIHObLI CypaKkTap

1.
2.

KangbikneH 6eny gereH He ?
Kanablk bernrilke TeH 6ona ana
Ma’?

TonbIMcbI3 DeniHai aereH He?

bip HaTypan caHabl eKiHLWI HaTypan
caHfa KangbikneH denreHae
OeniHriwTi Kanan Tabaabl ?
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